@ Evaluate: Homework and Practice

Find the rational zeros of each polynomial function. Then write each function in

factored form.
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fix)y=x"—x"— 10x— 8
Factors of —8: +1, -2, +4, +8
4 s a zero.
(x—4)(x*+3x+2)=0
(x—4)(x+2)(x+1)=0
x=84x=—-2, orx=—1
fix)=(x—a)(x+ 2)(x+1)

) =2x"—x"—13x— 6
Factors of —6: +1, +2, +3, 16
3 is a zero.
(x—3)(2+5x+2)=0
(x—3)(2x+1)(x+2)=0
Xx=3,x= —%,urr: -3
Jix) = (x—3) (2 + 1)(x + 2)
hixi=x" =52 +2x+ 8
Factors of 8: +1, +2, +4, 18
2 is a zero.
(x—2)(x*—3x—4a)=0
(x—2)(x—4)(x+1)=0
x=2,x=4orx=—1
m(x) = (x— 2)(x — 4)(x + 1)

six)=x'—x"—x+1
Factors of 1: =1

1is a zero.
(x—1)x*=1)=0
(x—1)(x+1)x—1)=0
x=lTorx=-—1
s(x)=(x—1)(x+1){x—1)

2.

4.

= Onlime Homework
= Hints and Help
= Extra Practice

fix) =x" + 2x'— 23x — 60

Factors of —60: +1, +2, +3, +4, +5, +6,
+10, +12, :15, £20, 30, 160

5 is a zero.
(x—5)(x*+7x+12) =0
(x—5)(x+3)(x+4)=0
x=5x=—3,0rx =—4
f(x) = (x —5)(x + 3)(x + 4)
glx)=x" =92 +23x— 15
Factors of —15: +1, +3, +5, =15
1is a zero.
(x—1)(x*—8x+15)=0
(x—1)(x—-5)(x—3)=0
x=1,x=50rx=3
gix)=(x—1)(x—5)(x—3)

hix) =6 = Tx —9x — 2

Factors of —2: +1, +2

2isazero.
(x—2)(6x*+5x+1)=0
(x—2)(2x+1)(3x+1)=0

> S .. |

r=31x5= 3 OF X = —3

h(x) = (x —2)(2x +1)(3x + 1)

fix) =x" 4+ x —Bx— 12

Factors of —12: +1,+2, 43, +4, +6, +12

3is azero.

(x—3)(x*+4x+4)=0

(x—3)(x+2)(x+2)=0

¥x=3orx=-—2

t(x) = (x—3)(x+ 2)(x+ 2)



